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56:1A2 562A12| | 562A2 0 MW 563A2 562A12| | 562A2 236 MW
A N
63 °C 42 °C 42 °C 124 °C 58 °C
- XB Y A "~ 00 h - | &5 « 1108 h
792 kpa|561A3 561A2| 781 kPa 736 kpa [561A3 561A2| 787 kPa
342 * *
m 4 573A1 573A1
KOND. Z BLOKU KOND. Z BLOKU
| = 558A1 = 566A1 (nieczynne) = 558A1 = ) (nieczynne)
. NQ1 97,6 l 5=72=A2 991 l PX1 ‘ NQ1 46,0 l 5% 46,8 PX1 ’
AR26 AR27 0 9 AR26 AR27 0 9
l PX2 a PX2
AR028 565A2 19, AR028 565A2 92 o
skropliny CC2 " e - PX3 skropliny CC2 " =% S , PX3
89 KPa 0,1 212A51 | W linig kondensatu 0 o . 1086 kpa 87.7 212A51 | W linig kondensatu 0 o .
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56:1A2 562A12| |562A2 231 MW 562A12 [562A2 0 MW
139 °C 58 50 °C 26 °C
- B > C 1087 un - L2 ° 42
727 kpal561A3 561A2| 780 kPa 554 kpa|561A3 541 kPa
380 * *
M 573A1 573A1
KOND. Z BLOKU KOND. Z BLOKU
| = 566A1 (nieczynne) | = 558A1 (nieczynne)
. NQ1 42,5 PX1 . . NQ1 9,9 PX1 .
AR26 0 % AR26 0 %
l PX2 l —_ PX2
AR028 565A2 0 o AR028 565A2 0 o
skropliny CC2 ; a PX3 skropliny CC2 n a PX3
1081 kPa 97,2 212A51 W linie kondensatu 95 o . 45 kPa NO DATA 212A51 W linie kondensatu 0 % .
Z XN3 ° Z XN3 °




